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T MMm.womQ Semester MCA Degree Examination, June/Jaly 2019
Discrete Mathematical Structures and Statistics

Time: 3 hrs. ~ Max. Marks: 100

Note: Answer FIVE full questions, choosing ONE full question \n.ﬁmi_..ma.nr module.

‘Module-1
1 a. Prove the following oom&sg&..ﬁm_Sﬁomomw. -

[0 DA@ODAT D] E—2DA>DAG—D)] | (07 Marks)
b. Given the following proposition, write
i) Direct proof i) Indirect-proof

50, will be treated as malpractice.

Module-2

3 " a. Determine sets A and B, given that:
A-B={l1;2,4},B-A={7,8)and AUB= {¥,2,4,51,8,9}. (07 Marks)
b. For any three sets A, B, C prove that . :
) - ANBUO=(ANBUANGC -

4y “If n-is an odd integer, then (n+11) — is an even integer.” (07 Marks)
E c. Using the laws of logic prove the following conditional expression:
o Eu v g A %<.z.8?.a o pvq “ {06 Marls)
= o .
S OR
p = 2 a Provethe following argument is valid :
= . e .
3% pP—>q
m 9 r-—>s
ﬁm pvs
£5 L qvs
E B m {07 Marks)
EX] b. Negate and simplify the following: T
5 ) 3x, p) vex)] i) [Ex [pk) vq()} = 1(x) e (07 Marks)
lm ¢. Summarize the laws of logic. ) v (06 Marks)
- . (I
s
b
g

, compulsorily draw dia

5 i) AUBAO=(AUB)N(AVC): (07 Marks)
“ c. State and prove the addition theory in probabulity. _ (06 Marks)
3 . OR

& 4 a Aproblem.is given to four students A, B, C., D whose chances of solving it are 1/2, 1/3, 1/4,
m, 1/5 respectively. Find the probability that the problem is solved. (07 Marks)
e

b. The probabilities that three persons x, y, z hit a target in one attempt are 1/6, 1/4 and 1/3
respectively. If each of these shoots once at a target-find:
iy = The probability that the target is hit

Important Note : |. On completing your answers

ii)  The probability that the target is hit by exactly one person. (07 Marks)
¢. Prove the Demorgan laws, for any two sets:
) AUB=ANB i) AnB=AUB ‘ (06 Marks)
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Module-5 T

18MCA23

By the method of least squares, find the straight line that fits m..ﬁ following data: (v = ax + b)

x| 1|213 415
y: | 14|27 |40 |'55-] 68

Define the terms
1} Coefficient of correlation
1)  Regression

. . (07 Marks)
Find the correlation coefficient for the two groups, .
X:192189 878683 7717116353150
y: 18618391 |77 {68 |85|52|82]|37|57¢
3 (07 Marks)
{06 Marks)

ii1)  Principle of least m@smnam..

OR

Find the correlation coefficient ‘r" and the equations of the lines of regression for the

following values of x and y

1112134
yvii2 503817

LA

R

Fit a curve.of the form y = ae”™, to the following data:
x| 5 [15]20(30]35140

y: [[10 { 14 | 25 | 40 | 5062

%* ok ok ok k-

30f3

~ A ..MUVA%
HECEAN 4

560037 (10 Marks)

¥
{10 Marks)
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